L28 Rotational Motion

Monday, December 3, 2018 06:49

• Conserved quantities are used to integrate the equations of motion

- The central force 2-body problem (Kepler orbit) uses all three!
- \circ 2 point-particles in 3d = 6 DOF x 2nd order $\vec{F} = m\vec{x} = 12$ equations
- $\circ\,$ Reduces to center of mass (M, $\vec{R})$ and reduced mass ($\mu,\vec{r})$ particles
- \circ CM also called center of momentum; $ec{P}=\sum m_i\dot{ec{r}_i}=M\dot{ec{R}}$ is conserved
- \circ Reduced mass is 2–d (orbit in z = 0 plane) or 4 integrations $\rho,\dot{\rho},\varphi,\dot{\varphi}$
- $\circ\,$ First we eliminate $\dot{\varphi}$ using conservation of angular momentum
- \circ Then we eliminate $\dot{\rho}$ using conservation of energy ~~ -> $~\rho'(\varphi)=\cdots$

* Argubar Motion
$$(\vec{r} \times \vec{r})!$$

• kinewattas: arc length $ds = d\vec{r} \times \vec{r} \neq NOT a vector!$
argubar velocity $\vec{u} = \vec{r} \times \vec{r} = \vec{u} \times \vec{r}$
avgabar acceleration $\vec{x} = \vec{u} = \vec{r} \times \vec{r} = \vec{u} \times \vec{r} = \vec{u} \times \vec{r}$
avgabar acceleration $\vec{x} = \vec{u} = \vec{r} \times \vec{r} = \vec{u} \times \vec{r} = \vec{u} \times \vec{r}$
• dynamics: argubar avallag of \vec{p} : (constant \vec{v}) $\vec{u} \times (\vec{u} \times \vec{r}) = -\frac{v^2}{T_{L}} \vec{r}$
 $\chi = \alpha \tan \phi$
 $\alpha m(v) = \alpha \sec^2 \phi \cdot \phi)$
 $\vec{r} \times \vec{p} = mp^2 \phi = \vec{r}$
• Lagrangian: $l = \rho_0 = ds \pm m(\rho\phi)^2 = ds$ conserved if $N = ds = 0$.
• Rotational dynamics: $\vec{t} = \vec{N}$ $\vec{I} = \vec{r} \times \vec{p} = \vec{r} \times \vec{F} = \vec{N}$ or $\vec{v} = \vec{r}$
• Inertica: $\vec{t} = \vec{1}\vec{\omega}$ $\vec{I} = m(r^2 \vec{l} - \vec{r} \cdot \vec{r}) = m(r^2 \vec{l} - rr^2)$

$$\vec{I} = \vec{r} \times \vec{p} = \vec{r} \times m(\vec{\omega} \times \vec{r}) = -m\vec{r} \times (\vec{r} \times \vec{\omega}) = m(r^2 - \vec{r} \cdot \vec{r} \cdot) \vec{\omega} = \vec{I} \cdot \vec{\omega}$$
$$\vec{I} = m(r^T r \cdot I - r \cdot r^T) = m^{(\chi \downarrow 2)} \left(\frac{\chi}{2} \right) I - \left(\frac{\chi}{2} \right)^{(\chi \downarrow 2)} = m \left(\frac{y^2 + z^2 - \chi y}{-\chi x} - \frac{\chi z}{2} \right)$$

· Rotational Evergy:

$$\begin{aligned} \text{lin:} \quad \vec{p} = M\vec{v} \quad \vec{F} = \vec{p} = M\vec{a} \quad \forall = \int \vec{F} \cdot d\vec{x} = \int m d\vec{y} \cdot d\vec{x} = \pm mv^2 = \pm \vec{p} \cdot \vec{v} = \frac{d^2}{dm} \\ \text{rot:} \quad \vec{I} = \vec{T}\vec{\omega} \quad \vec{N} = \vec{I} = \vec{T}\vec{x} \quad \forall = \int \vec{N} \cdot d\vec{v} = \int d\vec{\omega} \vec{T} \cdot d\vec{v} = \pm \vec{u} \cdot \vec{T} \cdot \vec{u} = \pm \vec{I} \cdot \vec{u} = \pm \vec{I} \cdot \vec{T} \cdot \vec{I} \end{aligned}$$

In particular, time and energy are the same for linear protectional; spatial coordinates: $d\tilde{r} = d\tilde{\sigma} \times \tilde{r}$ (arc length) momentum, force : $l = \tilde{r} \times \tilde{p}$ (to get $\tilde{p} \cdot \tilde{\sigma} - backwoods!$) inertia: $\tilde{L} = -m \cdot \tilde{r} \times \tilde{r} \times$ (combining above two)

* Additional properties:

- \hat{I} is conserved for any central Force $\vec{F}(\vec{r}) = F(\vec{r})\hat{r} = -\nabla V(r)$ $\hat{I} = \vec{N} = \vec{r} \times \vec{F} = \hat{r} \times \hat{r} F(r) = \vec{O}$ or $\hat{I} = \hat{e}\hat{F} = 0$
- KI the line from the sun to any planet sweeps out const. area/time: $I = r \times m d\bar{r} = 2m f (\pm r \times d\bar{r} = da)$
- For any system of particles, the total $\overline{I} = \xi(\overline{I}_i = \overline{r}_i \times \overline{p})$ separates into $\overline{L} = \overline{R} \times \overline{P}$ of the Com. + $\overline{I}' = \xi \overline{I}'_i$ relative to the CM $\overline{I} = \xi \overline{r}_i \times \overline{p}_i = \xi(\overline{R} + \overline{r}'_i) \times m_i(\overline{R} + \overline{r}'_i)$ note: $\xi m_i \overline{r}'_i = \xi m_i (\overline{r}_i - \overline{R}) = MR - MR = \overline{0}$ $= \xi \overline{R} \times m_i \overline{R} + \overline{R} \times m_i \overline{r}'_i + \overline{r}'_i \times m_i \overline{R} + \xi \overline{r}_i \times m_i \overline{r}'_i$ $= \overline{R} \times M \overline{R} + \xi(\overline{r}'_i \times m_i \overline{r}'_i = \overline{I}'_i) = \overline{L} + \overline{I}'$